SEW Math 090

Worksheet 5.1: Factoring

Summer 2016

1. Factor each of the following by grouping. You might have to reorder the terms before you
can factor by grouping. Check your answers by multiplying all the factors back together.

1
(a) ab+b+2a+2
= heat+2catl)

=(b+2)(4-+1)

(b) zg———zz—?)m

“XH(X-1) -3 ~1)

= (% 3)(x-1)
T

(c) 6ax — by + 2bx — 3ay
{

= 3a(2x-Y)+b(-9g12¢)
= (Gatb)(1x-Y)
(d) 21(;\43—1[ —_2-’ ‘
- 25(‘(4-2) - (ﬁ'f’f-)
=@5 - )(r+1)
1

(e) $2y+6$i—3:c3— 2?

“Y(x=2) 13y 2-X)
~ thﬂz)—%x(xﬂzz
=(9-3004*%2)

check:

(h42 M+ 1)
=qbhtbrlat L

check:

(X~ (x-1)
A L YER

check:

(;a+b)(zx1])
5 | ?
= éa)(—ﬁa(jfsiox‘cf;’}

check:

(25-O(Mt2)z 205444 —y-)

check:

(4-30)(K'~2)
= X‘Jﬂzéjﬁixﬂlx




9. Factor each of the following trinomials. Check your answers by multiplying all the factors

back together.

(a) 7% — 122 + 32

= (X=8)(X4)

(b) y? + 10y — 24

= (§+1)¢Y-2)

(c) 2 +9t+38

= (f +9)(++1)

(d) 2% + 10z + 25

= (X +5)(X+5)

(e) 2y? — 13y + 15

:231»103«-384(
Ty -9)
Lgng-9)

(f) 1642 +14y+3

fléﬂ + Qy +é(7 +7

= 9J(23+l)+5(23+1)
=(%y 321 \)

check:
( X- ‘3)(}(~4) = x 4)( X+ 32
= x K+

check:
/ﬂ%!ﬂ(ﬁ*l} = (j “f‘{i(;{—— z{j - 24
1334-;’{;%,21{
¢
check:
(£ +8)F+0)=4% 91+ 4+9
- ‘( Er’.{' g 6 fg
check:

(XE5) (X+5) = X s Sxe 6K+ 25
% X{lﬁf [OK t25

check
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SEW Math 090 Worksheet 5.2: Factoring

2 : Summer 2016
Binomials

Factor each of the following binomials, or state that they are prime (i.e. cannot be factored).
Check your answers by multiplying all the factors back together.

1. z2 -9 check:

(AU P) (K-5)X+3)= X w3y-3x -7
=x %9

2. 16 — 49w? 7 check:

2 ht-w) (b=10) (4 13w)

/_"([(a',l'—a,{//)[(;f-.}eﬂ) 4 %"ng TZ?W*%?(//Z'

=16 -49w*”

3. wi+4 check:

PriMe

4. 25u% + 1 check:

Prme



- check:

= (z.al-g)( 70"+ 3)

6. 8x% —1

= (2x) -1
- (zx—-!)(qx?f’lx* )

3

—:.\33'1: [l}
:(j-f(()(;jl“ 4+ 4)

8. 125¢3 + 27
:(5[)}4' 33
=) bac-15C+9)

9. z% — 1000
= yﬁ" 103
= (X-10)( X"t 10Y +160)

(16*-9)(20°+%)
= b0 g a4+ 154" -6
= 40'-64

chefck: )

(25 -1 %2 v+1)

o 85{‘5‘5’{’){4* 2 X
—4rf-2x I
>

(5]%4)(lgz>4jﬂé)
- Yl 4y
= Y - 44”4
4431 »162 teéq
f;j}—?é?

check:
(5ce3(250-15 ¢¢9) -

- (chﬁ, JL;Cz-f'((gC
t75(thse v 27

=253 +27
check:
(X-10)(¥*+1ox+ 100)
~ X 2116474 100 X
~1ox* _bo ¥ - oo
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SEW Math 090

Worksheet 5.3: Solving equations
by factoring

Summer 2016

Solve each of the following equations, using the Zero Product rule. Check your answers in the

original equation.

1.22-9=0
(X-3)(Xt3)= 0O
X=3 -3

2. 22 +6x—-27=0

(X+3 NX-%) =0

,X::<9,j
3.2 =1+12
ttt-np=0

({-4)(try)=0
%;%/’ 7

check:

31“9.‘: 9"9:‘ @
(3)-9-9-5-0

check:

(-2)"-6:9-21%
» g I";Z("Z:'L = 8{“9,:—0
2

3746 3<2729+19-2¢70

check:

|6

-5) =9

4+ 1

AL

=
~
\!

\\

wEa



4. 222 — 15 = —x check:

2X£+X*'5':O 2(5)%’ ;?‘Ekiﬁ:’_g
gxtrex-5X-15-0 z 2 2 z
2X(X+3) 5 (X15)=0 Lo =52 B2 ={-3),
(25x-5)(X+%)=0
)
K== )-.}
5. 1022 = 15z check: 9.
loX‘z‘,S‘A,:O ;O-O;’_C}i ’S'Qﬁ;
GX(2x-%) =6 07 =48 =152
? -
X=0)2
6. w3 = 16w check:
w2 16w =0 0?=ozl6-6
(W =16 = 0 -6 =16
W (W4 )pté) =0 (h)7--ce=16(-4),
W:Giér’-é
7. z(6z+1) =2 check:
exttx-1=0 3 (-341) - 7
Gt rhr-3x-2 =20 > /
32X 1) ¢2(2x-0=0 Ve =2
(23X +2)(2X-1)=0 8
o i
X3 | 7



